

$$W = t \sum_{n=1}^2 \Delta N_i = 8760 * [(143-115) + (225-115)] = 1\,208,88$$

: $t = 8760$.-
 $N -$

0,4267 . 1 * ,
 :

$$= W^* = 1\,208,88 * 0,4267 = 515,829$$

: - , ./ * .

: 1 " : ." .
 , 1999, 200 ; 2 . . -
 .; 3 " : "
 , 1999, 199 . .

621.311: 568.264

, , -
 . , -
 , , .
 , [1, 2]. -
 , . -
 1. , -
 . -
 - . -
 Q . -
 [3] , -
 , -
 , . -
 [4, 5], -
 , -
 [3], -
 Q , -
 ; † -
 . . -

> 1

Q

UQ,

Q ,

‡

: 1.

. – .: “ - ”, 2004. – 565 .; 2.

//

. – 2007 – 8. – .23-28.; 3.

? – . «

»

. – . 2004; 4.

», I, , 2002 .; 5.

, 2000 .

697.34